CTET December 2024 Level-l Question Paper 14 December 2024 Eve. Shift
PART -1/ ¥ - |
~ “CHILD DEVELOPMENT AND PEDAGOGY / a1l fdera a fhamen<

Direction : Answer the following questions (Q. Nos 1 to 30) by selecting the correct/most appropriate options,
T : Frfafad woif (9. G 1 € 30) & 39 87 & fore We/aas 3uga fawed giie !

1.  Kinesthetic learners prefer to learn through = = .

(1) listening (2) seeing
(3) ‘ touching (4) doing and moving
Tfergare) faremedt ¥ mem ¥ dET wHe F@ €
(1 W @ T
@) = \ 4} T IR e
2.  According to Vygotsky’s theory of learning and &j&élopment, which of the following is an example
of scaffolding ? »

(1) Demonstrating a skill to a student and then having them master it on their own.
(2) Breaking a task down into smaller steps and providing support as needed.
(3) Providing a student with a grade for their work as motivation.
(4) Providing a student with a reading assignment and asking them to answer questions
independently. '
AT % Uies oiR for % fsia % STEER, frfefiag § A FH 1 STere Bl Sae € 7
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3. In the constructivist view : :
(1) Learning is simply writing associations on the blank slates of our brains.

(2) Individuals are passively influenced by environmental events.

(3) Individuals are conditioned to learn new behaviours.
(4) Learning is extending and transforming the current understanding.
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4. Dysgraphia is characterised by :
(1) Repetitive behavioural patterns _(2) Delayed motor skills

(3) Difficulties in writing (4) Lack-of reading fluency
ﬁmﬁmaﬁﬁﬁw%: e |
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5. \Assertion (A) : Teacher should encourage boys of her class to participate in sports while assigning

7.

art decorati irls. ) . .
Reason (R) : Childrg;aa:c;ﬁt?egéznder roles primarily because of the-underlying biological

differences.
Choose the correct option,

(1) Both (A) and (R) are true l::ut (R) is not the correct explanation of (A).
(2) (A)is true but (R) is false.
(3) Both (A) and (R) are false.”
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).
(A) :  Trfeeht =i erqet e 3 wrgehi ohl Qi § W @4 o 1T Heatfed F =feq o wefpdi
I HA i F HA 37 AT .
SRUT (R) : T YT T § sfafifed Sfaw el % SR Se YfHmd T80 Fd § 1
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(4 (A) SR (R) I W § i (A) 1 (R) T =S TR
Inclusion needs to be promoted through :

()  Flexible curriculum (ii) Cooperative learning

(1) S_eg'_rfegation and labelling-- - (iv) Accessibility of building

(1) @) (@) Gv (2) . (i) (i) (iv) @) @ @) @) @v) (4 ) () (i)
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In order to cater to needs of students struggling with Attention Deficit Hyperactivity Disorder
teachers should avoid : '

(1)  Using multi-sensory materials

(2) Creating distractions and making noises

(3) Flexibility in curricular materials and instructions

(4) Breaking the task into small easily manageable parts

Tarenl =1 & AT SAfafshawier f9ar § S @ o6 F1 Savawmae S e @Y 96y

5= =ifeT | |
(1) wg-Had @il 1 STET HH

(3) urewhy Wl R T # e
(4) < I DI AT § TR 9 F drgd

8.  According to Howard Gardner while a scientist would exhibit high Intelligence, a
sculptor would have high ____ Intelligence.
(1) ~ Spatial; Bodily Kinesthetic. (2) Naturalistic; Spatial
(3) Transductive; Spatial - (4)  Logical-mathematical; Bodily Kinesthetic
<l MER * TTAR Th AR s I YGI HT ol T giiwR §
fig o 5 e il
(1) enfes; A (2) YHfca; T
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9.  Assertion (A) : Effective teachers familiarize themselves with daily lives and socm-(iultural

backgrounds of learners.
Reason (R) :  Learning takes place in a social context.
Choose the correct option. -
(1) Both (A) and (R) are true but (R) is notthe correct explanation of (A).
(2) (A) is true but (R) is false. il
(3) Both (A) and (R) are false. i ()
(4) Both (A) and (R) are true and (R) is the correct explanation Of {4/- .
AR (A) : e e g8 W mma:%ﬁm S oK ST g - it g 9
gfifera ad €1 e
ST (R) : Wi w Wit gy # e €
1) (A) 3R (R) A W& § AfFT (A) H (R) T =rre T T T
) (A) T ? AfFA (R) e &
(3)  (A) 3 (R) I e
\__(4)—A) 3R (R) ST Wt € 2F (A) (R) T = FE B
10. Piaget described cognitive development as occurring in : _ -
ive levels (2) A continuous contir .
g; ;'grut:’eozgi%;;;si:ge c?:i:u re specific stages % (4) Four qualitatively different stage
Ryt 3 ST faeT 1 ferd Wb oo fRaE? . .
(1) i i /A rey () T T PRI & w1 H
(3) =R atfaerd gept fafire =Ro # V@y—aﬂww

Shes of sensorimotor stage of Piaget’s theory of cognitlve

11. Two important cognitive development milest

development are : . '
(1) Igaversibility of thought and hypomehr;_:deduchve reasoning

(2) Animism and Transformation .
(3) Classification and seriation o
(4) Object permanence and deferred imitation

mﬁ%mm%mﬁ%ﬁﬁwmﬁﬁwwmrﬁa%wﬂ%:
(1) feradt Feie iR TR feaa- AT

(2) g SR TREd

3) Fffeptor SR FHHSSA "

12 :ch of the following correctly describes extrinsic motivation ?
: (1) Motivation that comes from internal factors.

(2) Motivation that comes from environmental consequences.
(3) Motivation that comes from a sense of personal satisfaction.
(4) Motivation that comes from personal enjoyment of the task.

Fry 7 @ F  TEd SRR W v FA K ?
1) o s afidfter FhT 4§ ST © | -
2) SRTIOT S rdTER TRoTE & S €

(3) i <7 SAfeRT Wt i e | S ¥
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V" (3) understanding the concept (4) constructing knowledge
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Meaningful 1earning is primarily NOT about :
(1) developing skills (2) memorizing information

aﬁwfwmﬁawamaﬁﬁﬁ%?

(1) N 3 e \__— oy 9
(3)  STAuRmS i e (4) - =1 Fmio

According to Vygotsky children speak to _t_heh‘tselves -

(1) Because their thought is illogical. .
(2) To aid thought and for se]f-reglﬂati___dﬂ-

(3)  To provide self-reinforcement when adults are ignoring them.
(4) Because they are egocentric. i

SR 3 ST o v o w1
(1) i T o s

\ (2~ SR st~ e 3 e ¥ forw)

15.

(8)  STH-TE Yart e 3 Fory o 9 % ST 9
(4) Hifw I ererhfa 3§

Which of the following statement represents.’Proximodistal’ principle of development ?
(1)  Children develop ability to sit up before standing,

(2) Development is multidirectional and multidimensional.

(3) Identical twins living in different cultures can develop at different rates.

(4) Children develop ability to grasp the ball before putting beads in thread.
fFrfafea & | =i 1 e fawm % “riv-gufnge’ foguis s whififae s 2

Vo a=id e R e S+ BT 1 Farehrr e § 1

(2) Torerra wg-fevmers iR Ag-emAn B ¥
(3)  ACTI-TTHT WEHTAl H T Aol THIET a1 STe-3er T4 § faehiad & g ¥
(4) ThfeEi o oar F fRE R v 9= 1 A ey 9w faestod w0 ¥

16. In developmental terms, a time _frame where an individual upholds an amplified sensitivity to
particular incentives for developing particular skills to function in an efficient manner is referred
to as of development. __&

(1) Encoding period (2) - Incentive period
(3) Stimulus period 4) Critical period
ferepra o daed A, T WA W o o s faftre scwneti % wit wRafia Saesiem e & R
i oe Forel % 9 FE F F o o wivre et o o, e frera 9 FEeTs St
gl N
(1) HeAE/THIET &t (2) WuTe 3rafy
(3) IR Y \_(4)— el srafy
LR Ty 5 . I
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Assertion (A) : Scaffolding provided by the teachers hinders the learning process of children.

Reason (R) : Lev Vygotsky proposed that children learn independently by acting upon and I
manipulating the environment.

Choose the correct option :

(1) Both (A) and (R) are true but (R) is not the cor

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AT (A) ﬁmmmmwwaﬁaﬁm@ﬁﬁmﬁmmm%l |

T (R) : @Wﬁmmﬁﬁwﬁmﬁq@?ﬂmmmaﬂtwﬁ%ﬁﬂ
Tk ThEd © | |

we fased 94 ¢

1) (A) 3R (R) S T € AfH (A) Fl (R) T e & F

2) (A) G ¥ AT (R) o 2

rect explanation of (A).

\__(3—(A) 3R (R) i e

18.

19.

P-1 (NI 6

W—ﬁmﬂmm@ﬁlﬁﬂ?ﬁ@

4) (A)ﬁR(R)aﬁaﬁ%ﬁn(A)ﬁ(R)u@w@nm%

Children -

(1) Come into this world as tabula ras
d to be socialized.

odes that determine their destiny.

] context they grow up in.

a or blank slate.

(2) Areborn unruly and nee
(3) Come into this world with genetic ¢
(4) Are greatly influenced by the social cultura
= -
(1)
(2)

(3)

e <ia 3 e e R o 8 o
< g § e H1S F 6 s ¥ < SR frafa @ e €
argd g g € o 3 &S 2 €

At which level of Kohlberg’s moral development does individual’s ethical behavior mainly depends

on the mindset that “what do people think of me”?

(1) Conven tional (2) Postconventional

(3) N on-conventional (4) Preconventional

m#%w%mWﬁﬁﬂmwwmﬁwmmﬁ%ﬁm%ﬁ
i B i B 2 3

\ (1) ARIRE (2) SW-IRYRE

(3) TR-IRYRE (4) TA-IRufEw
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Assertion (A) :

20. Children below the age of 5 - 6 years should not be pressurized to write ‘properly’

and ‘within the lines’.
Reason (R) :  Children gain a control of finer motor skills from 5 - 6 years onwards.
Choose the correct option.

(1) BOﬁ} (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false. € )
(4) Both (A) and (R) are true and (R) is___li-he. correct explanation of (A).
R (A) : 5-6 T w39 ¥ w=i S A ol el F iR e ¥ forw e 79 e
=ife | bl
N (R) : S5 - 6 Wl % A1 ek AR B e P W e §
&t faea = - Jia
(1) (A) 3R (R) < T ¥ A (A) 3 (R).SE! =TT T&l e §
(2) (A) 98 T A (R) T i
() (A) 3R (R) 3 e ¥
\ A9 (A) 3T (R) <1 w0t # sie (A) 71 (R) Tt =men e 31
21. Assertion (A) :

Teachers should distance themselves from students and place primary
responsibility for learning on them only.

Learning takes place affectively in an authoritative rather than a democratic
environment.

Choose the correct option.

(1)  Both (A) and (R) are true but (R) is'not the correct explanation of (A).

(2)  (A) is true but (R) is false. Gy

(3) Both (A) and (R) are false. s~

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AfeRer (A) - Torersl 1 ol | o T T =feT SR ST i gt e 3 W e

HNUT (R) : ST U IRl ATl % STl U UShIHHRe a3 gt & & 2 ¥
W o 9 - .

(1) (A) 3R (R) ST T € A (A) F1 (R) et AR T ohiet § |

2) (A) @€ & AT (R) T ©

Reason (R) :

LBy —(A) TR (R) &l 7T & |

@) (A) 3R (R) S W € AR (A) FT (R) Fel =A0€A 2l 2 |
2, Mastery Oriented learners typically attribute success to and failure to

(1) ability and effort; insufficient effort (2) ab?l%ty and good luck; task diff_iculty
(3) ability and effort; bad luck ¢ 1(4) ability and good luck; low ability
TeRd S forenedl STAR W R H A 1 <d € 3R ST |
(1) e it i T B - (2) v SR T e W e

L&) eren i ife; wE e ) v i et for; e

Chall in social communication are Qv?iﬂent in: .
(l)a el?egaiimg Disabilities (2) Attention deficit hyperactivity disorder
(3) Cerebral palsy “ ' (4) Autism Spectrum Disorder

(1)  sfemremerss fammeima | @) ‘ -
(3) wfees veTER H @ . m""”%“?ﬁgﬁilﬂm
(T - ;
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24,

Children often come up with their own explanations of events around them. On being PfObéda
to why does it rain Sia says - “God was tired of carrying the buckets of water on his shoulderg

Such explanations :
(1) Indicate that children have naive understanding rooted in their cultural context with whyj

they try to understand events. _
(2) Depict that children have an egocentric view and cannot consider other’s viewpoint.

(3) Illustrate that children are not capable of any reasoning.
(4) Prove that children’s thinking is much lesser than adults quantitively.

T ST ST ST 1 U T ST S SRt S € | SR 6l el %, 78 IS T W o
¥ WA STa Sl U Y S B-qe o g 9 1! U s

| Rt 31 3 o ol 7 a1 e a6 ST HeS T S & e 3 SeTeH

25.

26.

1 HITT H |

@) Faf st ¥ 7 o ST g # ol A e 3 g e T
(3) TR HT ¢ T T=1 ok H H WA ¢

@ e e & o =t ) W o ) qe # e w9 4 7g T

During play time at school, Rishab, a 7-year-old boy picked a doll to play with. Some of his pee
made fun of him for his choice of toy. As a teacher who wants his students to grow up with gend
role flexibility, which of the following would be the best response to the situation by the teache
(1) Quitely take away the doll and give a car toy to Rishabh without saying anything.
(2) Talk to Rishabh that dolls are suitable for girls and boys should not play with c}olls.
(3) Tell Rishabh that he should play with something else because his friends won't approve
him playing with doll.
(4) Let Rishabh play with
choice. o .
fagamer § Ger % wHd, FY, qmmﬁhmﬁﬁ@aﬁa?mwwmlw%@ﬂfwﬁg
sﬁwﬁﬁ;f@@ﬁ%’ﬁqmmmjﬁﬁwsh o farenfeal § Sifien fee & W
SrteTa fasRfaa ST e €, ﬁwﬁqﬁrﬁﬁmﬁﬁaﬂﬁﬂw—zﬁuﬁmﬁm?

1) ﬁmg@ﬁg@maﬁwﬁaﬁm@ﬁﬁwﬁ@aﬁ%mm%%ﬁml
(2) ﬂﬂﬁwﬁmﬁﬂ@m%mmﬁwmﬁ@m%mﬁ@

=feq | (ot
w7 @ e =TeT i o o sk facil ¥ Wy S FHite 0% AW W 7€ AR T ¢ 6

doll and tell'other children that they can also choose any toy of th

@)

V@ﬁaﬁg@m%mw@aﬁﬁmﬂrﬁq 3 gE o= i e =ed 6 9 off STGHT TS H HIE &

<[ T 2 |

In order to help students to become good problem solvers, a teacher should emphasize on

practice of : _ W S
(1) centering only on one particular piéce of information related to problem.

(2) focusing on information that confirms existing beliefs and preconceptions.

(3) approaching problems in a particular fixed fashion.
4) breaking large complex problems into smaller manageable problems.

1 e G S H faeidl %l g w0 ¥ f, @ﬁtﬁﬂ%ﬁﬂl‘?—rﬁaﬂﬁﬁfﬁﬂf

i

T 9 ﬂ‘-lT 'ﬂﬂ%ﬂ, ? i’.u J:i’.1':1

Q) T A e SR % e T Tee] W A Sid
illli’lilwwwﬁwawmaﬁtmaﬂwﬁl

(3) ans’ w1 v fafre feifa wlh A e w e

(4) o &R Sifeet T S B gt st § fauw w7
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Y experience : . L
(1) Learned helplessness (2) Low level of alertness during activity
(3) Moderate level of excitement to learn (4) High degree of anxiety to perform

7 - I FW ¥ A A T AE E

() (2) Tfafafa % R T TR A wad

G) W F o o ) —see W ¥ A I W w R
78. Lawrence Kohlberg argued that : s

(1) there are gender differences in moral reasoning of children.

(2) moral development in children occurs in:a continuous manner.
(3) there are cultural differences in moral reasoning of children.
(4) moral development occurs progressively in stages.

AR e 3 T foqr § Ry
(1) == ok ok for 2
(2 == H e o frer w9 @ 2 2
() == % ok vk g siw a3
L@—‘%ﬁ?ﬁmmﬂwﬁﬁ@m%l

29. Assertion (A) :

Teachers should use multisensory materials to cater to needs of students in an
inclusive classroom.

Inclusive classrooms should adopt standardization of curricular materials as well
as assessment strategies. - _°
Choose the correct option :

(1) Both (A) and (R) are true but (R) is not _t.}-lle correct explanation of (A).

(2)  (A) is true but (R) is false. i

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AR (A) 1 TF THE e F o Y SRS Rl QU L 5 ferg Frerpl 1 sggadt st =i
SYA HET =Mfeq N

ST (R) : TS FRIS 1 ST AR S AAeRTRL0l o T el W 3 T
I ST =1 |

Reason (R) :

el Taered <4 - ~
(1) (A) SR (R) ST T € AHT (A) T (R) T =mEn T @ d)
\_(2—(A) w& € afT (R) 7T 2

(3) (A) 3R (R) S e €
(4) (A) R (R) S W T SR (A) FT (R) FE =en w7 2

30, According to Jean Piaget a child who is unable to understand the logic behind simple mathematical
reversals such as 4 +5=9509-5=4, it is because of :
(1) perceptual centration % - a'ninﬁstic. thinking

i ibili - egocentrism .

f‘r?i)'—rﬁ;rg’fvg:sgﬂygﬁwGﬁwﬁeﬂqwﬁﬁ4+5=9a‘r9—5=4&;tﬂ%%ﬁﬁwﬁﬁ
3rEme T, sHel m.% :

\__(1)—srmemones HEiw (2) o g
(3)  SraReHrr (4)  SToTRET

BT 9 | !
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MATHEMATICS / Tford
Direction : Answer the following questions by selecting the correct/most appropriate options.
9T : fFrefofaa 397 % 3% 87 % e ag/aad g faecd gl

31. Which of the following is most appropriate for including open ended questions in mathemati
class ?

(1) These questions are not easy to copy from each other
(2) These questions develop critical thinking in students
(3) Answers to these questions are not given in the book

(4) These questions take more time to solve

Tﬁaﬁwﬁwﬁaﬁuﬁaﬁﬂmmﬁ%mﬁﬂmﬂﬁﬁwmmw%?

(1) o o g @ T O S T

) 3 v Ferenfelai # SR fHad 1 o H §
(3) T A % I gE A e < R

(4) T T T B F G AUF A T

SPACE FOR ROUGH WORK / 1% &t & g e

P-1 (IR DA 10
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32. A primary class mathematics teacher gave his students the following problem to solve :

“How many classes of 28 pupils would be needed for a school of 616 pupils ?”

One of the student solved the problem in the following way :
1 Class =28 Pupils

10280

10 - 280
560

2- _56 — 10+10+2=22 Classes
_616
Which of the following is most appropriate for the algoﬁﬂ1m used by the student ?
(1) The student has used the distributive law of division across addition to solve the problem
(2) Thestudenthas used both the distributive and associative laws of division to solve the problem
(3) The student has used an incorrect algorithm to solve the problem

(4) The student has used the associative law of division across addition to solve the problem

mmwﬂ?@?ﬁﬁméxﬁnw%mﬁmﬁfﬁaﬁﬁnﬁf@ﬁmwaﬂﬁﬁﬁ:

616 TTenfal & et ¥ forw 28 ferenfefdi oot ot el 43 ST gt 2"
o el 3 wHen =5t 59 veR a fg -

1 Fan=28 famneff

10 - 280

10 » 280
560
25 _56 — 10+10+2 =22 e
_616 :
ﬁmﬁ@aﬁﬁﬁmﬁm%ﬁnﬁmﬁfa%@@m—ma@m%?
(1) foenedl 3 w=en 56 T % o0 4 R faursH & faaon fom =1 sedm fi &
Wﬁﬁwwﬁ%@ﬁw%ﬁmﬁﬁmﬁﬁﬁmmm%
(3) feremeff = THEN T F & T U Terq swemfaty s SgEn fwa &
(4)  fereneff 3 woen & X % A€ A R fawem & wrant frm o sw@m fem

ee——

SPACE FOR ROUGH WORK / T% &1 & foe srrg

P " I
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33. In class III, 150 children were asked to name their one favourite fruit and results for 5 fav_-'-
fruits were written in the form of the following table :

Name of the Fruit | Number of Children
Apple 28
Guava 26
Mangoes 44
Banana 14
Grapes 28

Choose the correct option :
(1) Ten children do not like any fruit given in the table. .
(2) Equal number of children have Apple and Guava as their favourite fruit.

(3) The difference between the number of childrens who like grapes and those who like bananas
is 16.

(4) The number of children who like Mangoes and Banana is two times the number of children
who like Guava.

m&ﬂ111ﬂ1soaﬁfﬁm$waa@w%aﬁﬁ@waﬂisw‘aﬁmmﬁf%wﬁwﬁaﬁﬁqmﬁm

7 foaer T
Wl i ATH el hl A&l

= 28
ES 26

L 44
et 14

: . 28
il
& fashey 1 I :

\ @) 1oﬁ,waﬁmﬁﬁqmﬁﬁﬁﬂﬂw5ﬁmﬂiﬁm%|
A (2) %ﬁwwmaﬁmﬁmw%‘l |
3 @Bﬁﬂ%ﬁ@mmﬁaﬁaﬁaﬁmﬁwmlé%t |
¥ (4) mmmmﬁwaﬁﬁw,wmwa@ﬁﬁmﬁm%s

SPACE FOR ROUGH WORK / 7% & & foIq ste
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redecessor of 201 and the successor of 4781 is :
201 % T TR 4781 % Rt w51 v B
WSMOO (2) 965560 (3) 965650 (4) 956200

35. Which of the following statements is NOT true with respect to the concept of Fractions ?
(1) The mathematical notation of a fraction can be represented as a division problem
(2) Itrepresents a part of a collection of same objects A
(3) The mathematical notation of a fraction can be represented as a ratio
(4) It represents a part of a whole which is greater than 1

il T ST % waof & Fetfefias § 4 F-91 B 9 TG 872

) Wf%mwm(m)@ﬁwmﬁﬁaﬁaw%mﬁwmm%

(2) € T WA gl a1t g % o frefud s @ b

(3) @fwmwm(m)wﬁw%mﬁﬁﬁqﬁﬁW%ﬂm%
(AT T 1 e T Frefd s & S R 7 D S

3

QvH
36. The s.m‘.allest four-digit number which is a multiple of 6, 7 and 4 is : Uz g
=R ST T FE =T e, 6, 7 i 4 % T 8, P 2 Q%L
(1) 1002 (2) 1006 L —3)—1008 (4) 1000 T e
8§
. 1.1 2 6
37. A child solved a problem : 2T 3 5" What is the most appropriate inference drawn from the

solution ?
(1) Child does not know how to take L.C.M.
(2) Child does not know how to represent fractions on number line
(3) Child has extended the concept of addition of natural numbers to addition of fractions
(4) Child does not know addition of numbers
i

S o 1_2 o
T = A e T A S H o =< | 36 T @ W S o e e S s €2

(1) == o] ST qHTE ol TR ST ©
) =31 el e TR =1 1 9en W W RS vefdi fha s

\_(3) == 3 ikl H@ASH & S i STEHron & (4= % Sirs aoh foranfin o @
(4) o= 1 HEE i S T S §

—

SPACE FOR ROUGH WORK / T% &4 & o wrrg

UD-gn

Y120 o

O6 6 O

Ooo 0 x
P (e 13 2ol x - M I
f-’ 0

S 0 s
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38. A.ccordmg to National Education Policy 2020 Mathematics and Computational Thinking is o
given increased importance as : j

(1) It is foundational to human survival
(2) It is foundational to evolving technologies like Artificial Intelligence (AI), machine learning
and Data Science etc |

(3) It can be a substitute for a teacher
(4) It is the most difficult aspect of learning in school

TS T Hift 2020 i SR FrepRvAE W % e 1 gl At € FAh :
) 7% e i & fore ges @

(2) IE USTE (Al), TN T SR Tor wrEw onf S SvRdl g aA 1 SR ©

(3) U® Ueh TRI&Teh 1 T & Hehel §

(4) ¥ Whel H WG F Hl HicT e ¥

39. What is the result when 7 kg 7 g is subtracted from 9 kg ?
9kgH ¥ 7 kg 7 g 1 T2 TR 1 IR0 9T Bl & 2
—— 1.998 kg (2) 1.93 kg (3) 1.093 kg

s like four candies and three candies, but when asked
the same set of learners is unable to do so. What is the
tion according to National Curriculum Framework

4) 13 kg

40. Most II graders are able to add two quantitie
to do 4+ 5 on a worksheet a large number of
most appropriate explanation of this observa

2005 ?
(1) Some learners are poor in mathematical skills

(2) Learners are not interested in learning real-life mathematics

(3) The learners are not ready for the use of abstract mathematical symbols

(4) Learners are not taught addition properly
g&ﬂw%ﬁmﬁwaﬁﬁﬂﬁﬁ?ﬁ?%ﬁﬁﬁﬁmﬁﬁﬁ@ﬁﬁmﬁﬁﬁaﬁmwaﬁﬁzm
4+ 5% 3 fore el v & < siferebie e el Tan T A el B | TS UIeT=al 9 2008

¥ STTER ST 1 HR0 € ?
(1) @mwﬁnﬁ?ﬁaﬁmﬁm@%%
Foreneff aTefarer Tifora HE § e e W €

2
3) Foreareff a7l oA FefteR & Swe 3 o IR T 2 €

gy Frefefei i < i @ T e ST <

SPACE FOR ROUGH WORK / 1% &Td & featu e

060G~
~ 0oq

T

P-1 (I | 14
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according to their attributeg and properties ?
Seriati
‘(Hliﬂ 3:;:[ o.n (2)  Conservation (3) Decomposition (4) Classification
.”"a;"\"amﬂ%a}ﬁaﬁﬁaﬁﬁﬁw ‘ | & STTER
SR T8 T T e e 9 o Sl % HHIT Hl TEH 37

R Tl ()

gnitive skill that help students to recognize and group shapes

HRToy 3) T \_(4y— aiferaor

o006 0

g2, The difference of the place valyes of 5 and 7 in the number 352876 is : S 6

FE 352876 H saﬂwﬂ?w-—ﬁaqﬁanam% .
L (2) 49997 (3) 50007 \ (4)—49930

43, A3 standard student, when
as ‘1005°. This indicates that

(1) s/he is mischievoys

asked to write one hundred and five in numeral form, s/he writes it

2 s/he I?EEdS .Inore help in understanding the concept of place value
(3) s/he is unfit to learn mathematics

(4) The student is a slow learner

mm%@mﬁﬁﬁm@ﬁﬁaﬁm%mﬁmﬁﬁ ‘ ‘ ’
et 2 | 9% ST e 2 2 W ¢ 1 5% 34 1005 feram /

(1) % IR

\_(2) 9 T M T STuron w1 geen § s v € s {os
(3) = T e H ewig
(4) Toreneff e & Fueik §

4. Which one of the following is the most effective way to introduce the concept of area to fourth
graders ?

(1) Abacus (2) Formula based method
(3) Approximation and Estimation (4) Tessellations

Seft speq & S b1 &1 i STEURON & IRFET FRH 1 Gad JurEt i ST T2

ul)\ﬁ-[:[am (2) 9= i fafy
() afe i SIgam (4) R (FEfAT)

S ————

SPACE FOR ROUGH WORK / T% &4 & fee sme

P4 N 15 :
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45. The sum of the greatest and smallest six digit numbers that can be formed from the digits 5, 9,
B.arfd 6 (without repetition) is : '
Si15,9,0,2,8 316D (F5r TRt ) 6 Si] F1 o8 S Geht e Hord IS S Ford B
T IAT '% : .

(1) 1292209 ) 1192290 | A3y 1192209 (4) 1292290

46. The missing numbers in the pattern 12, 14, 17,13, 8, 14, 21, _, _ are respectively :
Y12, 14,17, 13,8, 14, 21, _, _ H @ o G&AT 6090 € :

1) 12,3 @) 14,5 @B) 13,4 4) 15,7

47. Jasmine said, “A rectangle has two pairs of opposite sides parallel; a square also has two pairs o
opposite sides parallel and so does a parallelogram. So, both rectangle and square are alsq
parallelograms.” :

Jasmineisat ____ stage of Van Hieles theory of geometric thinking.
(1) Relationships (2) Formal Deduction
(3) Visualization (4) Analysis
ST 3 i o A Tl s ¥ 9 g qEie 6 & T et # of faein s % <
AR 21 & iR 3d 9oR T gaFiR 9gys § ff | TafeTT S ST o S A THEIR g g
S, 39 20 ¥ Ragia v a6 WWE
) Gdi i g (2) 3o Fr
(3) T (4) fawado

48. Which of the following letters has two lines of symmetry 7
e § 9 forg o1er 1 S TG W@l €2
(1) B ) E @) U L@

49. According to National Curriculum Framework 2005 mathematics teachers need to shil
towards :

(a) Promoting memorization and rigorous algorithms
(b) Mathematical reasoning and logic
(c) Becoming sole authority for right answers
Choose the correct option :
1) @and®) () Ony(®) 6 Mand© _ (@) Only(@
r@uwﬁmzmﬁamnﬁm%mmﬁmw 3R & SHfed S il SIeNd © ¢
(@) T S e B Y TIEH i S <l
(b) o T foreR
(c) W&l 3l o ferg ThAH FAfERRT &
e oo 94
()—a) 3 (b) (2) 9 (b) (3) (b) 3 (c) @) Fad (a)
SPACE FOR ROUGH WORK / 1% & & fou sre gy
JEG L b
887 6. & 9
IEERT e :
\( :
P-1 I 16 :

Join Telegram ) @HaryanaJObs'in C} Scanned with OKEN Scanner



Join Telegram - @HaryanaJobs.in
50. A triangle fa VNG al'l sides of different lengths is called :

[T An isosceles triangle (2) A scalene triangle
@ A I iriangle (4) An, equllateral triangle
e St TSIt Tt o e aﬂmm&raﬁéﬁﬁ% FET § :
() T SHEAE B L) e fomang Faes
R P (4) T EHEE B
51. Which of the following is NOT related to Indian' ﬁa'ﬂlemaﬁcs ?
(1) Charak Samhita (2) Surya Siddhant |
(3) Baudhayan Sulba Sutra (4) Lilavati
frafafed 5 & Sr-w s i @ weifg T8 32
(1) = Hfea @  fasi
@ e @ e

52. Which of the following statements are true with respect to ‘Data handling’ ?
(1) A bar graph displays data that changes coﬁﬁnuously over periods of time.
(2
3) A histogram is used to compare the parts of a whole. g
)

(
(4

A line graph is used to show comparison among categories of data.

A graphical representation of data is easier to understand when there is a trend or comparison
to be shown.

‘siterel = yeiuA' % ey # freafafes § § wh-w w2

(1) TF de-oTerE U Siihe Tqd el €, S HHY & Y- TR Seed & €|

(2) U Y@ Sl 1 fafe AVE % e G B % HH S

(3) e a7 Fe Tt o Wt % fafur il o ger e o forg SR fopen S #1

(&) oSl SeREl g1 WGHH WHE H FEA S B €, S o Sifen e 1w N Fer @ 2

SPACE FOR ROUGH WORK /7% Td & feTg stmg

I
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TRy value of 2 + 2 _ 7 . \
vaueof7-|-14 5 is: S«Q y f; . %
7 SR
7t g g TmeE
5 3 A 3
1 2 ) 3¢ @ @ 14

Which of the following is least appropriate about Formative Assessment in mathematics classroor
(1) To identify students’ conceptual undersfziﬁding
(2) It helps to identify students” misconceptions

(3) It provides cumulative evaluations that helps to rank children
(4) To check the progress of students during instructional activities

o 6t e & FreAffE § ST T SR % A g FH SR § 7
(1) foenfEi i TaaRonEs 993 i 98ar H
(2) e ferenieiEi 1 Wit = Tewm w0  ger W@ ©

WMWWW%ﬁﬁH‘ﬁWWﬁWW%

(4) ﬁ%&ﬂmﬁm%%ﬁﬂrﬁﬁfﬁwﬁiaﬁsﬁw

ithdrew Z 4,560 from his bank account on 4" of a month and deposited ¥ 2,567 on

55. A personw
of the same month. If at the end of the month; balance is I 3,125, then money (in %) at the sta
the month in his account was :
TF Afed A S S % @n & § R TEN @ 4 TR W T 4,560 FeTr 3R SE HEH H 20 I
% 2 567 1 % faw | At TER ¥ ofd S @ H 13,125 FI S T, A 6T F AR H 396 @
e wFIfe (3 ) of ?
(1) 5,213 (2) 5,128 3) 5118 (4) 4,998

56. Which of the following has a definite length ?
(1) aline segment (2) aray (3). aplane (4) aline
forer 8 | forg ot Tk ffem @ et €2

\ <= w@rEs (2) T fom (3) TF wHaw @) TEH@
SPACE FOR ROUGH WORK / T% & & fere e 1
TR 18
e, N /Y v <
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57. e Numbers between 31 and 60 is : 8-, b g
319 60 Th S e o & 8.3 e
1 227 (2) 280 3) 311 @) 221 b
58. Eiﬁ‘; n":’alelisd:; km 725 1, per day on _Monday, Wednesday and Friday, whereas she walks
9 P Y on Tuesday anq Thursday. Total distance covered by her from Monday to Friday
T T, R 3 Y oy

(2)  15.355 km (3) 15.193 km (4) 16.975 km

59. How many planks of Size 2 m x3
LA 5 cm X 8 em can be made from a wooden block 8 m long, 70 cm

Sm%@%?cmﬁ%m%cm%mﬁ?ﬁmﬁ2m X35 cm X 8 cm A 91 fohe™ %g T
S ‘

) 48 (2) 45 (3) 40 (4) 50

60. Students feel difficulty in solving division problems because

(1) Students do not like the sign of division.

(2) Division problems have no utility in daily life.

(3) There are no informal ways of solving division problems
)

(4) For solving division problems students need to know ad

thoroughly .
ferenfefal =61 s =t wed o A § Hier o ¥ it -
(1) faenefi ym =1 fows e =& ww
@) 9 = wHensd =i 3k sfem § o sy e
(3)  um skt AHENST T HA % fow FE sEien e faftai T8 A
(4) T FEEN T FH % T T e © o forenedt s, wen s on e ot e 4 S E S

dition, subtraction and multiplication

SPACE FOR ROUGH WORK /1% & & fow s

1
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PART - 111 / 4T - 111
ENVIRONMENTAL STUDIES / TafaRol 31
Direction : Answer the following questions by selecting the correct/most appropriate options.
Frder : Freffas gol & ot 33 ¥ for wehaas suge fawed gt

61. A teaqher of Environmental Studies, while conducting an activity w
some important incidents and also makes a descriptive note of the sa

may be the tool of assessment ?
(1) Portfolio 2)
(3) Anecdotal Records (4) Rating Scale

AR ST U R FS i % arary A & R, O
wmwmﬁmﬁmﬁmtﬁaﬁm%lﬁmﬁﬁaﬂﬁﬁaﬁqﬂmmwm

\ et (2) ST gt

(@) SurEATHS Ao (4) e @hd

ith some children, observes
me. Which of the following

Observation List

e SEAIa 1 S P 2
2 T &

dies. He writes the following activity on the

bility of water at the time of your parents anc

62. Mohan is a class V teacher of Environmental Stu
# For the above activity, which of thy

blackboard in his class. “Find out about the availa
grandparents and compare it with the current situation.
following strategies would be most appropriate ?

Role Play (3) Project (4) Discussion

mﬁwswwWaMwﬁTw%lﬁaqﬁmﬁﬁﬂfﬁﬁﬁﬁnﬁﬁﬁaﬁwmm
%1“aﬁw~ﬁmaﬂ1m—mﬁ%mmﬁﬁm%ﬁaﬁﬁwﬁ ¥R Sge! oA feufd | IO

ﬁ["mﬂﬁﬁatmﬁmﬁ‘@ﬁﬁﬁaﬂqxﬁwﬁwwﬁﬁéﬁﬁ?
(1) HETHR (2) e fee (3) TS \ﬁ/ﬁm

,, which of the following is NOT seen to be happening ?

(1) Interview @)

63. In a constructivist EVS classroon
(1) Children’s experiences are being respected.

(2) Children are just solving familiar problems.
(3) Children are using their experiences to make new connections between concepts.

(4) Children are learning by doing activities with concrete objects.

e ST T T TEee ke #, Fretatad # |/ A H e w9 et g8 fow <t w2
(1) i & vE F G fo S @ T

(2) = s ST Tg= gaT &l 1 @ B
(3) F= STEuRonSA & aita 1 -7 hfe H IS § oo s 3w W @ E

N4y 31 FEge W R ek W @ €
P-1 [ IMM AL 20
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Rakesh is a teacher of Environmental Studies of class V. He asks the children in his class to do an

activity. In which, aJ] children observe which “object floats in water and which sinks in water” ?

After the activity some children ask the teacher why some objects sink in water and some objects
float in water. What is the megt appropriate g situation ?

thing a teacher should do in the followin
(A) ty.

The teacher should te]] the children that this is happening because of the densi
(B) Give each chilg and interpret those

the freedom to observe, record their observations,
observations,

Provide OPPortunity to each child to hypothesize,

Teacher shoulg say that the main reason for this
(1) (B) and (@) (2)

THY, HE 5 7 U

test and make activity based generalizations,

you will understand in your higher classes.
(©) and (D) (3)  (A) only (4) (A), (B) and (C)

: Wﬁmawwﬁw%lﬁmmﬂﬁﬁ@wnﬁrﬁmw%mm%n
fmﬁvgﬁﬁaﬁaﬁaa@mm%ﬁafmm*‘a@mﬁﬁm%aﬂzﬁmmﬁﬁ@m%wvﬁrﬁm
*WW*q’éﬁwﬁm%ﬁag@a@mﬁ@w%aﬁhwa@qﬁﬁmﬁﬁmﬁ%l
Wﬁ?ﬁmﬁﬁﬁwaﬁwwﬁmmm?

(A) ﬁwﬁﬁﬁmm%mwﬁmam%l

(B) uﬁmﬁﬁﬁﬁmaﬁ,mﬁﬁwﬁﬁaﬁmﬁﬁam%wmﬁmﬁﬁm%
mﬁﬁqﬁmmmﬁ,ﬂﬁwwﬁﬂﬁﬁfawmﬁamwwwmmﬁl |
(D) Fﬂwﬁ%mmﬁ?mg@wmaqﬁmﬁwaﬁﬁmﬁl

(1) (B) 3R (Q) (2 (C) iR (D) (8) = (A) 4 (A), (B) 3R (Q)

nsider the following statements A and B.
ement A : In 1969, Neil Armstrong was the first man to walk on the moon.

Statement B : In 2007, Kalpana Chawla set a new record for the longest space flight by a woman.

Select the correct code from the following :

(1) A and B both are wrong (2) Adis correct but B is wrong
(3) A is wrong but B is correct (4) A and B both are correct
3 fog g el A SR B TR FIf

TATA - T 1969 H et STHEIAT = W IRA ool T Taet s1ferd o |

FAAB : G 2007, H FEH =G e ¥ wod wiel G 7% T Ao veelt wiea off |
Freafafr 8 Wl 1S T

(1) A sirB g e (@) AT B
(3) AW%WBH—Q% (4) A 3R B 3 we &

1
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carefully |

66. :
In the following question, Assertion and Reason are followed. Read the statements -

choose the correct option from the following : 7
1 Studies is theme-based and each theme-a{a

Assertion : The curriculum of Environmenta
interreleted.
Reason : The main reason for keeping the syllabus of Environmental Studies them.e-b
is that it creates a deep understanding of each theme and each theme begins with
questions. ,
rrect explanation of Assertion,

(1) Assertion and Reason are correct but Reason is not the co

(2) Assertion is true but Reason is false.

(3) Assertion is false but Reason is true.

(4) Both Assertion and Reason are correct and Reason is the correct explanation of Assertion,

frfafian w7 #, e ot worear ) A T &1 ol 1 A @ 9 S At 3 ¥ ¥

fasrea =1 5o &Y

afeReE Wiawaquwaﬁeﬁnwawrﬁa%a:ﬁtw |

THRUT: e e e A o e T T

1 el guE adl & o offey o1 eI FeTet § Bt ¢

\ () SHehem SR HR0T el € wifeh T, sifeRe 1 T e T €

(2) ANIHAT TA § Tl wROT STHA g

(3) SifuERer oTEw § T FROT G <

4) aﬁmmﬁﬂmﬂﬁr%aﬁﬂw,aﬁmmaﬁﬂﬁm%l

67. In the following question, Assertion and Reason are followed. Read the statements carefully anc

choose the correct option from the following :
In the lessons of NCERT’s Environmental Studies textbook, real incidents o

Assertion :
common life, everyday problems and some burning problems related to today
have been kept.

Reason : Children can debate openly on all these problems, be aware of the problems, by

sensitive to them and make correct understanding.

(1) Assertion and Reason are correct but Reason is not the correct explanation of Assertion.

(2) Assertion is true but Reason is false.

(3) Assertion is false but Reason is true.
(4) Both Assertion and Reason are correct and Reason is the correct explanation of Assertior

ﬁmﬁf@ﬁwﬁ,aﬁmmaﬂtwﬁaﬁr@wﬁmﬁaﬁwﬂ@mﬁaﬂ?ﬁﬂﬁf@ﬁﬁﬁﬂé

farepe 1 =T B

afirame - AT 3, AR A ¥ IS e % e § 7 fet i e gee
ﬂﬁﬂzﬁmﬁaﬁm\mﬁﬂéﬁﬂdﬂﬁquﬁ@@W%

FHEOT : = goff gl W o= ol 98 G ‘ i
N , el A ST B, A% Wi Ga

(1)  SfvERe 3l HROT HE & e HROT, AHH BT e T ¥

2) sfirehe T ¢ WAk HIOT ST €

(3) SifvERe I § T 0T §A €

\ ) — e S FmoT 2w € ST AT, SR Y e v ¥

-1 (NN 22

Join Telegram - @HaryanadJobs.in (¥ scanned with OKEN S
canner



i

Joi - anaJobs.in
} ana“hlﬂam%"nl}onn%nggmdies teaching class IV. She forms two groups of children
{n her class and condycg a
Why

ivi ic “ the school have uni :
did Archana orgapg, debate activity on the topic “Should the school have uniforms or not”.

i ? Whi llowi t
appropriate reason ? € a debate in her class ? Which of the following may not be the most
®) :c));ti,ite R children an opportunity to think about and understand different aspects of a

(8) Children are encoura
(€) Children get apn opp
(D) Children assegg the

ged to express their views in the classroom.
Ortunity to share their experiences in the classroom.

knowledge of their peers through debate.
O O0MO Q) WQmt® @ ®adD® @ @) amd D)
ST, T O el s o i & | ot o i 5 o o P
fATTT S SR 2 T e e - i e 1 1 e vt e P o
m?ﬁqﬁ@ﬁﬁﬁaﬁ?mw@rwwﬁam%?
(R) TR X s 3 et s 3 it gt 35k A ey o o o ey v
(B) N H = % 31t v 3 Fere st e 3
© mﬁw@aﬂﬁaﬁﬂawaﬂ%aﬂwwm%l
(D) aﬁﬁaﬁéﬁmﬁwwﬁaﬁaﬂwméﬁ%ﬁ
(

) A)BIOQ @ (@A), sRD) ) B D) L@)—(B), (© IR (D)

69. Read the Assertion (A) and Reason (R) carefully -

Assertion (A) : The goats from which the soft pashmina wool i

s collected are found on very high
altitudes of 5000 meters in extreme cold.

Reason (R) : A coat of warm hair grows on goats body which protects it from extreme cold.
Choose the correct option from the following :

(1) Both (A) and (R) are true but (R) does not explain (A)

(2) (A) is true but (R) is false

(3) (A) is false but (R) is true

(4) Both (A) and (R) are true and (R) explains (A)

ARTHYT (A) TUT THROT (R) Tl & | 03
AR (A) : ﬁmaﬁﬁ?ﬁ%aﬁf@wm@mwmﬁ%émmsowﬁa%ﬁﬁm

G & TRl 9gd el uedl g
FRT (R) : gt Tt | = o ot el % iR T et 3w v e
Frtferfiag 3 @ W@ foed 9

(1) 2 (A) T (R) T8 T T (R), (A) H =men & @
@) ()T & g (R) T
6) (a)Tem & G (R) T &

\_(4) =i (a) T (R) T T TNR), (A) Tt =wen s &

P g 23 .
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70' "
S;zﬁer 4 “Mangoes Round the Year” of NCERT Enviro
apprecgia?atl;\go P.apad so that children not only understa
teachin c = Skﬂ!s of cooking and preservation. As per N
g EVS is being achieved through this lesson ?

(1)  To develop an understanding of how Aam papad is made.
(2) To explain how much labor is needed to make an object.
(3) To discuss how various things can be made from the natura

(4) To df:‘velop understanding with the help of observation an
experiences in place of abstraction. :

TAHIEIRE 1 GAleR01 e hl TSI o 31841 4
2 qIfs 1 s Wi SR A ) o) T, Sk G S H

qmaafaﬁw@m%%aﬂw,wm%mwnﬂéaﬁwwﬁm
WE?
(1) Wmmwﬁmw%wﬁwﬁmml
(2) Wwﬁﬁﬁ%wﬁwﬁ%ﬁwm|
(3) Wqﬁéﬂ@mm@%ﬁﬁa@immm%wﬁaﬂfmn
\__(4) TR & I W T s % TEqEll @ S ereeed O
EXGIl
! 75 18 Zead the following statements and choose the correct-option.
— ssertion (A) : Biomass and Fossil Fuels are the two main conventional sources of energy.

which are renewable in nature.

amental Studies textbook has a story

| environment.
d examples related to oy

“mmlzwﬁ”ﬁmmmﬁﬁw
m#ﬁwﬁeﬂmﬁlw
aﬁammm:—sqé‘mwﬁma

wewﬁaﬁwmﬁrﬁmmﬁm

Reason (R) : Conventional sources are those
(A) is true, but (R) is false

(1) Both (A) and (R) are false (2)
Both (A) and (R) are true

(3) (A) is false, but (R) is true (4)
21FeRe (A) : S TS UE SHETeH SeH, S Sl o ORI i € |
qrafier a3 § TSl TE T Bl § |

&IUT (R) :

(1) 3 (A) 3R (R) 7@ € (2) (A)HE ¥ 3R (R) @ ¥

(3) (A) 7 & 3R (R) FEl g 4) T (A)SIR (R) T& &
72. The state/union territory having coast on the Bay of Bengal is :

(1) Andhra Pradesh (2) Karnataka

(3) Kerala (4) Telangaﬁa

ST F @IS W YE q2 drell T4/ heentad gev Fefafed § @ s 2

\/(;,)/aﬁét EEE (2) wAleH

(3) XA 4) et
p-t (NIADIIL 28 RoAT
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r
@as be!ﬂiébs-gﬁ@gﬁﬁ%ﬁe@,ﬂta ANAQAPSAR: observing the learning and progress of

__ehildren. These mistakes may be the result of our biases. Which of the following information should
not be recorded as a bias ?

(1) Social background of the child. -

(2) Samples of the children’s work in the portfolio.

(3) Prior experiences regarding the ability and performance of the children.

(4) Previous results related to the examination of any one subject and any area thereof.

T T T T S 3 i oy o S S0 A §0 e 8 S § 1 8 et w6
aEl 1 RO B weheh ¥ | Freferfiad @ S G GO T T %S9 H 2 T8 e e 2
(1) o= S FHEIT gy
(2) théq?lﬁﬂ‘r H = o o A | '
(8) A o ef Frowre el e F S |
(4) TFST O forw o o foredt v o w1 wiven @ 2 7 oo
74. Cows have Short front teeth and Large and flat side teeth for which one of the following ?
(1) Chewing grass and snipping grass respectively
(2) Cutting grass and ghawing grass respectively
(3) Gnawing grass and cutting grass respectively
(4) Snipping grass and chewing grass respectively
T < S o < Ble T 99 & afd =9e 3K a3 20§16 i 2 e ?
(1) SHHS: S S G = w1 % o
(2) SHE: ST HEH AU ¥ HI FaH & fag
(3) SHEN: HTH A TA1 S I FeA & o
\_{4) W1 W e a1 S T4 & fon

75. A person would not drown in the dead sea or a salty lake even if the person does not know how to
swim. This is due to :

(1) low density of sea water
(2) neither high nor low density of sea water

(3) volume of sea water
(4) high density of sea water

% wafeR g T A1 @ el § T gE e € o (R 7 S €| veet o
\_(1) §gg % T

2) W%ﬁmqﬁ,?ﬁﬂmﬁ

() W % T = A

(4) TEg % Wl H I

76. Child describes different skilled work related to farming and their inheritance (from elders) in

daily life. ]

The above statement 15 : -

(1) Learning outcome (2) Learning indicator

(3) Learning objective (4) Statement of competency

mﬁﬁﬁwﬂﬁ@@ﬁﬁﬁﬁﬁsﬂmﬁmﬁm (SISt &) <t el Fam ®)

SRR O € A
Y eccica kol (2) el F gEw vl

(3) e & I (4) <& ®AA &
PL 25 1

¥ " -
L 1
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77. Y How much time “boiled milk’ takes for digestion in the stomach ? Choose the correct answer fre
the following :

(1) 3 hours (2) 4 hours (3) 5 hours (4) 2 hours

EEC E S PRI CE pu . p a— S R G
NECRERC @ 4w @ 5% (4): 29
78.  Which one of the following is a group consisting of elements only ?

(1) Bronze, Copper, Aluminium () - Steel, Iron, Zinc

(3) Tin, Lithium, Sodium (4) Sodium, Brass, Potassium 5 |

Frerferfiaa & 9 S o e e ol @ o 2 &Er\

(1) S, Hw, gyt 2) e, s, S

(3) feu, faferem, wifean \__(4)-— wifeam, 3, fefrEm

ortant place in the textbooks o
priate reason ?
te tales and stories witl

79. What is the reason why tales and stories have been given an imp
Environmental Studies ? Which of the following may be the most appro

(A) At the primary level, the teachers of Environmental Studies narra
interest, that is why they have been given an important place. s -

(B) The use of stories has often been considered important in developing children’s sensitivity K

environmental issues. '
(C) Because children easily relate themselves to the characters of the story, that is why they hav

been given an important place in the textbooks.
(D) Tales and stories are liked by the society, that is why they have been given an importan

place in the textbooks of the environment.

(1) (B) and (C) (2) (© and (D) (3) (A)and (B) (4) (A)and (D)

7 RO & Foh TATaRT STEe S USagEiehl | hH TR Sl w1 Heagul wuH fean & § 2 Fefate

T I T H ST FROT & Hehell © 2

(A) WEfgR TR R gEieRe e & e R ofR et 31 w9 o g § sHifae o9
e ol T fear T el

v-(B) W=l 1 TRVl § Heiftrd Tl ok Wid HeeTeier faemad #R % fou s e iR waite
TLIHTET Hewqul /AT 741§ |

\__()—(B) () @ ©RMD (@) () sikp @ (A) 3R (D)
80. Lesson 13 in NCERT’s Class V Envir : i
“Gaurav Jani”. This lesson is a part o?nvﬁgﬁaéfs ttﬁslfjufiﬁoolt;describ
(1) Shelter ) Imeﬂ‘ﬂlatiomh% emes ?
(3) Work and Play (4) Family and Friei d
mﬁm%mﬁmmwaﬁﬁaﬁmaﬁwmﬁ% ’ .
2 #1790 WS P i 4 A 4 o e £ 1871 T % sy e 6

es the amazing journey o

) (2)  3MTHT Hay
(3) M R @e (4)  IRER sk firg
P-1 (WA IArAEn 26
e ——— O 5
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13 ndian birds make nests which hang from the branches of trees Or bushes. These two b.n'ds

=, b : \ :
g ?‘:ﬁorlgilrzn:ngaﬂm: bird (2) Barbet and Sun-bird :
0 Indian Robin (4) Indian Robin and Weaver bird

a,ﬁqﬂ&ﬁﬁﬁgmaﬁmwmmmm%ﬁﬁ e wet ¥
A o @iﬁ‘"‘ﬁfw (2) o T i yreRREr
) : o (4) e Fad) o ded uel
T
Asserti®” M elephant herd has only female and baby elephants.
eason - ale elephants leave their herd after 14 - 15 years and move around alone.

Choose the correct answer from the following :

(1) Both A_Sseljtmn and Reason are true but Reason is not the correct explanation of Assertion
(2) Assertion s true but Reason is false
(3) Assertion is false but Reason is true

(4) Both éssertiun and Reason are true and Reason is the correct explanation of Assertion
R TS FROT T o T
AR : R % 3T 8 eer wffl ot o= @ @ €
O Tl 14 - 15 We 18 3 Bre 24 ¢ St STt Ted B
frefatad § § W& W R =
(1) @I, ARTRLT Fo SHROT FE ¥ fohe T, SR Y e el T Al §
(2) 3TeERe G&l T forg mon e €
\_(3) eRer e © Ty T W ©

(4) <, NRTHYT T FRUT T2 £ U6 HROT, SRR F el S F ¢

3, Read the statements I and I
Statement 1 : Due to anaemia, children do not grow well, and their energy levels are low.
Statement II : Anaemia affects both, children’s physical as well as mental health.
Choose the correct answer from the following :
(1) Both I and II are false (2) 1is true but Il is false
(3) [Iis false but Il is true (4) Both Iand II are true
S [ T8 11 1 & 9 € |
HUAT I : ST 3 O = Sk W w9 T o € S ST Fefl off Bt 7
HA I : i el T S fRAm dgeEd T S A T

Fretferfian # @ w@ S T - :
\_#y—2ii 1 7dl 11 7T € | (2) 1O ¥ fereg 11 T B
(3) [T & R 1L FE € (4) G I HE
8, Select the correct matC]‘l from the fOIlDWj_ng i
(1) Bihu - Assam (2) Lavani - Tamil nadu
(3) Bharatnatyam - Odisha (4) Kathak - Karnataka
Fretfetfign & 4 @@ e 9%
\ 3y fag - o (2) - amEvi - g
(3) saAEdH - ST (4) U - FHAleH
of i

e T

nt
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- )4 person boarded an express train on 30 ]

oin Telegram - @HaryanaJobs.in |
x; anuary 2023 at New Delhi for Bangalore. The g:aly

86.

departed from New Delhi at 17 : 00 hours and reached Bangalore at 17 0,0 hours 78 2.;1: Jog
2023. If the distance between New Delhi and Bangalore by train route is nearly 17

average speed of the train during this Journey was :
Waﬁa%aamﬂzozsﬁ#ﬁﬁ?mm@w%mawIﬁ#ﬁﬁaﬁﬁw:%w%‘ﬂﬁ
3?1?17:00*:{?:17{31maﬂ2023ﬁa*@6q§ﬁlaﬁﬂéﬁﬁﬁ3ﬂfwa‘m EURL

1776 fehaiifiet ¥, A 3 1 G amn 1 sfe wfd 0 2w 2
(1) 8072 km/hr (2) 77.21 km/hr  (3) 71.04 km/hr \,(-47——74—km/h.r
s would be LEAST likely to occur?

In a child centered EVS classroom, which of the following activitie == hild
(I) The seating arrangement will be seen to change according t_o the f‘cm.nty 2 tlhe i
(2) Children will also be seen sharing their experiences while discussing in the class.
(3) Children will be seen in the classroom, listening to the teacher.
(4) Children will be seen actively working in a variety of activities

qaeRTT STeEe & AT Sfed wen §, Frefated § @ s 9w

ﬂy’ﬁﬁﬂﬁﬁfa%mﬁaﬁﬁwﬁqﬁaﬂﬂmﬁ@ﬁﬁl
A2

87.

88.

= T § == A T¢I e wied gy o faar <

@) == e A, fee w1 gAa gy fewE &
aﬁm—mﬁnﬁﬁﬁﬁﬁmmmmﬂ@ﬁ:@ﬁﬁl

4)

t is 10 A.M. now in India today, it is around noon of todayin -

(1) Karachi (2) Japan (3) Singapore (4) London
S & 9RA H 10 AM. 999 €| 3T & H ST AR ¢ |

(1) = (2) A (3) MR (4) IS

Siddhi is a teacher of class 4. She takes all the children of her class to the playground to play
i tu” of the NCERT Environmental Studies

Kabbadi, while teaching them lesson 10 “Hu tu tu, hu tt
rules of this game to all the children. Why

textbook. Before playing the game, she also explains the
does the teacher tell the children the rules before playing this game ? Which of the following may

be the most appropriate reason ?
(A) She wants to draw the attention of the children that in life like in sports, we make rules.

(B) So that all the work is done properly.
(C) We are all bound by the rules in the same way in the society by which we settle differencet

and conflicts among ourselves.
By making rules, the attention of all children is much more on the rules than on the game

(D)
(1) (A)and (B) (2) (©) and (D) () (A)and (D 4 o
e A W
3 Tec oe Wl o= B 58 e o e o S € 1 R v ae S e w9 frer 529 oA
29 fafafad | ¥ i 9 G ST T Bl Fohell & 2 h |
(A) & S 1 P 39 SR e =R ¢ o @ e @ : _
(B) e G hrf WET @1 F fep | ST of g o < €
(€) &4 | Tas A 36 wR | el 4 69 ¥ o g e :
(D) Wm@aﬁaﬁmm@aﬁmmﬁmmwﬁggjéwmwﬁ%

|

1) @B @ OO ) @) sk i

P-1 (I 28 |

e — S e
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g9. A teacher in his environmental studies class, divides the children into groups and asks them to

collect some objects present in the school. After that he sits with the children and asks them to
distribute those objects into different groups. Child_{gr__lﬂdivide objects into different groups on the
basis of their properties. What could be the most appropriate purpose for the teacher to conduct

this activity ? —
(1) By doing the activity, children make very few mistakes in understanding the definition and
facts. =

(2) Activity strengthens the cognitive domain toa.greater extent than the other domains of
learning in children.

(3) The activity develops the child’s understanding of all the concepts.

(4) At the primary stage, children learn better by:interacting with each other.

e e STt yataRer sree 1 when § Sl ol WHE | deH, foenera # HiSE T4 FB TU 3% B
) FE T | ST AR e T W AoHR I TG 1 s Gue H wed % o FEw € | o= gl H
37k O 6 Wmﬁfwmﬁmaﬁ%@w%mmnﬁﬁﬁaﬁmﬁmwmmw
& HehaT & 7

(1) Tffafy S & w=y ufta 3R qeli S gee § 5gd w9 el F3 ¢

(2) it s=di 3 a3 o= vell 1 qor H WA &l ] B! 8 % AT Pl ¢ |

(3) TIfafaty =i ¥ weft erauRonsl # whE o F ©

\_(4) ~Trafireh WR T =1 T g & W1 3R R g ded Wik § e I €

90. Read the statements A and B carefully -
Statement A : During the cold season lizards go‘into a long and deep sleep.
Statement B : Some animals go into a long, deep sleep in certain seasons.
Choose the correct answer from the following :
(1) Both “A” and ‘B’ are correct but “B” does not explain “A’".
(2) ‘A’is correct but ‘B’ is incorrect.
(3) ‘A’ is incorrect but ‘B’ is correct.
(4) Both ‘A’ and ‘B’ are correct and ‘B” explains “A’.
%2 A T8 B &l 2 § Ue
FAT A : o€ % Ay ¥ fousfeal et oK med ferd = 9 2
FITB: PO FIH H, FS TR q=h, Tl w1 H o 5 €
faefafed § ¥ 9@ I H T : |

\_(1)—2ri ‘A’ $B’ € TG B, ‘A7 T R e A 2 |

(2) ‘A’EE T o B I €|
(3) ‘A’ & UGG ‘B GEl €
(4) @i ‘A’ SUB W € SRB A’ i e smmen B

P I 29 1
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LANGUAGE - | adode

¢ from Part-IV (Q. No. 91-129 j
IMPORTANT : Candidates should attempt quesnglésnl e )
opted for ENGLISH as L%_N_(_;L____
the questions that follow : (91-99) -
r -
th’s Gandhi School. We
o e e _StagEd 3 dA m&in;:ft the hostel quietly after I; __
get the tickets for the play after much running arounc- s pen S gy

: d _
the mess. The play started at 9.30 p.m. and it was alrea the opposite direction,
road to the station. Suddenly we saw Upadhyayji coming e : - E

rovingly.

‘Maharshi, where are you off to at this time ? he said rep

: ‘Gir. I h headache,
We looked at each other’s face. Suddenly Patil sPO]?elt;pa’ftzi‘r’drini‘iZIiga cupi."c e NE are goiy
the station to have some tea or coffee. We will be back righ

Read the passage given below and answe

‘Why, don’t you get tea and coffee in the mess ?

‘We do, Sir. But today there wasn’t any milk in the mess. That's why we are going to the giag
Patil improvised. '

Upadhyay said, ‘Come with me. I'll get you some coffee.” He brought us to his home, The i
for the play were squirming in our pockets. We couldn’t work out how to get him off our ba

After seating us in the drawing room, he asked his wife to make the coffee and sat on t
across from us.

As soon as Mrs. Upadhyay entered the kitchen, I got up and said, ‘Ammaji, Warden "s_j_;}:
bothering you unnecessarily. I will make the coffee’,

She was pleased to see me. ‘Maharshi, you go sit ... [ will make it

I went up to her and whispered, ‘Ammaji, both of us were going to the Gandhi School to
play. Warden Saheb waylaid us and brought us here, See, here are the tickets, but he d
anything.’

Ammaji examined me from head to toe. ‘I see, Is it g good play ?’
I said , “Ammaji, it is very good.’ n
‘Then why don’t you go ? she said with a laugh.

‘How can we go ? Warden Saheb won't give us pPermissio

. , ’ ', I whispered. 3
She came into the drawing room. Listen, what kind of 3 v d ¢ voull
children go and have some fun ? Go, Ma_harShL but don’t be to(:uiaten are you ? Why don
e
91. Mr. Upadhyay’s professional role in the institution Was that of
i atof ..,
(1) the principal (3)  a teachey
(3) the hostel warden 4) . an admi e
Minj ator
92. Choose the expression similar in meaning tq ‘imPrOVised'
(1) to shout (2 & make i uaS used in the passage.
(3) to declare 4) to tell g,

e truth
P-1 (OO 30
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93. Why were the boys sneaking away from the hostel ?
(1) Tosee a play (2) To have a stroll

(3) To play football (4) To watch a movie

94. ‘The tickets for the play were squirming in our pockets *

What literary device has been used in the underlined expression.

(1)  Oxymoron (2) Personification (3) - Simile (4) Alliteration

95. Which of the following statements is True/False ?
(A) Mr. Upadhyay met the boys inside the hostel.
(B) The boys were already getting late for the play.
(1) Both (A) and (B) are True. (2)  (A) is True but (B) is False.
(3)  (B) is True but (A) is False. (4) Both (A) and (B) are False.

96. How did Mrs. Upadhyay receive the boys at home ?

(1) She was unhappy to see them.
(2) She received them coldly.

(3) She was displeased with her husband for bringing them home.
(4) She welcomed them.

97. What did Mr. Upadhyay do after hearing the boys ?
(I) He allowed them to go.
(2) He talked to them and walked away.
(3) He took them home for coffee.
(4) He did not react at all.

98. Which of the following statements is True/False ?
(A) The boys had purchased the tickets in advance.
(B) Mrs. Upadhyay supported the boys in their endeavour.
(1) Both (A) and (B) are False. (2)  (A) is True but (B) is False.
(3) (B) is True but (A) is False. (4) Both (A) and (B) are True.

99, ‘We had managed ...’ Identify the tense of the underlined expression.

(1) Past Perfect (2) Past Indefinite

(3) Present Continuous (4) Present Perfect

P-1 It 31 1
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Read the extract given below and answer the questions

O what is that sound which so thrills the ear

Down in the valley drumming, drumming ?

Only the scarlet soldiers, dear,

The soldiers coming,.

O what is that light I see flashing so clear
Over the distance brightly, brightly ?
Only the sun on their weapons, dear,

As they step lightly.

O what are they doing with all that gear,

What are they doing this morning, this morning ?
Only the usual manoeuvres, dear,

Or perhaps a warning.

O why have they left the road down there,
Why are they suddenly wheeling, wheeling ?
Perhaps a change in the orders, dear,

Why are you kneeling ?

100. Identify the rhyme scheme of these lines.

(1) abab (2) abcb (3) abdc (4)
101. What emotional state does ‘kneeling’ reflect ?

(1) jubilation (2) indifference

(3) anger (4) anxiety

102. The poem presents itself as a conversation...
(1) between two persons (2) among three persons
(3) in a crowd (4) amonga group of people

103. Where is the ‘sound’ coming from ?
(1) From a market place (2) Froma crowded street
(3) From a group of commoners (4)

104. The poem has been written in the form of ...

(1) alyric (2) anelegy B an i

105. Which literary device has been used in the expression, - scarlet soldjere
(1) transferred epithet (2) simile Oldiers’ ?
(3) metonymy 4) alliteration

R T 32
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that follow : (100-105)

baba

From a contingent of soldiers

(4)

a ballad




107-

108.

109.

110.

111,

112,
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b 0 Words noticeq wh

() Words that we us:fl "¢ read beyond the lines.
Writi :

3) Words which are ney t:ttlhng and sPESkmg.

( 4) Words whi ch are € reader.

(1) Anticipating theg skills is NOT considered as a mark of reading with comprehension ?
(2) Organizing and agseg _
(3) Mentally summagic: & the sequence of events or ideas.

}; teacher t;SkS her students to reflect on how they have answered an experience-based question
she gave them and what and how they were thinking when they wrote that answer. This is an
example of :

(1) Metaphor. (2) Metalingualism. (3) Metasemiotics. (4) Metacognition.

Which of ?the following is NOT a feature of the Grammar translation method of second language
teaching 7

(I) Learning and practicing the rules of grammar of the second language.
(2) Communicating directly in second language and then comparing the rules of grammar of
the two languages.

(3) Focusing more on the form than the function of language.

(4) Comparing the grammatical rules of first and second language.

Which of the following features of human language enables humans to talk about things which
are not present in immediate time and space ?

(1) Arbitrariness. (2) Structure Dependence.
(3) Discreteness. (4)  Displacement.

Which of the following is NOT explained by the concept of Language Acquisition Device (LAD) ?
(1) How children are able to learn language within a short span of 4-5 years.

(2) How children learn figurative language.

(3) Why the linguistic output of children is more than the input they get.

(4) How children learn their first language.

Which of the following is linguistically CORRECT about languages and dialects ?

(1) Languages and dialects are linguistically different but geographically same.

(2) Languages have their own script but dialects do not have their own script.

(3) There is N0 well-defined linguistic difference between a language and dialect.
(4) Languages have written literature but dialects are only based on oral traditions.

LT 33 1
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113. Which of the following DOES NOT justify starting reading skills with words and short story ey,
instead of letters and alphabets ? ! S
(1) Words and texts create meaningful associations which letters fail to do.
(2) Words and texts are more interesting but letters ar€ not.
(3) Separate letters are more difficult to memorise than words. _
(4) Beginner readers can focus better on bigger units .thaf‘ smaller units.

114. Mother tongue based multilingualism advocates that =~
(1) all children begin their schooling in the language of the State
(2) all children begin their schooling in English medium and in home language
(3) all children study Hindi as their first language
(4) all children begin their schooling in their mother tongue or home language

115. Which of the following among Krashen's hypotheses is siﬁu'lar to Vygotsky’s ZPD ?
(1) Monitor hypothesis (2) Natural order hypothesis
(3) Affective filter hypothesis (4) Input hypothesis

116. According to Cummins’ interdependence hypothesis, which of these are interdependent on each
other :

(1) Cognitive academic proficiency in first and second language.
(2) Reading and writing in second language. '

(3) Basic interpersonal skills in first and second language.

(4) Comprehension and production in second language.

117. Mark the INCORRECT statement among the following
strategies : ’

(1) Skimming is more about in-depth reading while scannin

e Bt : : g is more of cursory reading.
(2) zﬁlmg is more apt for reviewing while scanning helps more with answering particular

regarding text-comprehension

(3) Both skimming and scanning involve rapid €ye movement through the text
4) Skimming involves going through the text rapj : APy p o
(4) i & gomg g1 the text rapidly while Scanning involves looking for specific

118. When children start using language to ask about things
which of the following functions of language is used gs, events

(1) Regulatory. (2) Informative. (3)

and phenomenon around them,

more than the others ?

Heuristic. (4) Imaginative.

119. In a speech community, it is observed that ‘s
economic groups of speakers. This difference
(1) A pragmatic variable (2)
(3) A socio-psychological variable  (4)

" is Pronounceq g;
1S an example of : g

i zoc'm-c_.ul{'ural variable I
0c10~11_n§1_‘1istic variable ‘1
120. Veera is a seven month old infant‘_ She is now making Vocalizat;
vowels. She is communicating using which of the followin ?atmns et combine

(1) Babbling. ® Phone |

(3) Linguistic speech. o i

P-1 (MY 34
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- 1v
e -1 R

wEV ¢ T W1V (WA, 913 120 ) % w5 9 S @90 % A% A w1 7 e e

TR

freAfeiad TE Y Ugwt
EIGIEET

) TS T Uy & Ieeh R W Sue fahed @t wE it (91-99)
SR WRE ) o ? e W o 3 o 3 fer siter SR wrfe g 1 @i

feEei TSR 6 1 1 W oferd 9 o | 76 g o ot 9§ Sl o ot @i aeg A 2w
ST AR S W s 1 iy sy o e 1 e e o qol e 6 T, W0 T 1 4 o
I AT 1 S S @il 3 faeme oo # e < e 9 weE o @ | S e Rl A a3
<@ fo e Sfen o1 srien wwfs <frn 4 st i o |
TR TN S e g ¥ Firwn forepren fob afe & s At Wt 1w firg R T R aw ¢
SR 37 FEE Siofl & el ot ey ¥, 1 3 0 i€ ol oy e & STt e 1 o et § ga g

SR ST AT W T G |

91. S WRi W F STHER WMo wR % gRad $1 @ T R

(1) TS 2) FEIM

92. ‘siafifea’ @ TNl e T &
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PART -V

LANGUAGE - Il : ENGLISH

PORTANT : i =
lm NT : Candidates shoulq attempt questions from Part-V (Q. No. 121-150), if they have
_ opted for ENGLISH as LANGUAGE-II only.

Read the passage given be]

A couple of days later,
largest auditoriums in town.

oW and answer the questions that follow : (121-128)
(t)here was :a music recital in the Bharatendu Auditorium, one of the two
ne of the performers was Ustad Majeed Khan.
L : he p j

A S;Zaﬁig“al,ah both managed to get tickets. So did Hema, a tall, thin and high-spirited friend of

B dniier the car‘zlﬂ; Innumerable cousins-boys and girls-in a house not far from Nabiganj. They were
OI a strict eld : : i

Hema's Taui had i s elder member of the family who was referred to by everyone as Tauji.

reptation of the girls of ty e]'ob on his hands, as he was not only responsible for the well-being and

kinds of mischief that boys
in a university town of g |

straight b

family but also had to make sure that the boys did not get into the countless
are prone to. He had often cursed his luck that he was the sole representative
arge and far-flung family. He had on occasions threatened to send everyone
ack home when they had caused him more trouble than he could bear. But his wife, Taiji to
SR ane, tho‘fgh’f she herself had been brought up with almost no liberty or latitude, felt it was a great
pity that her nieces and grandnieces should be similarly constrained. She managed to obtain for the girls
what they could not obtain by a more direct approach.

This evening Hema and her cousin had thus succeeded in reserving the use of Tauji's large maroon
Packard car and went around town collecting their friends for the concert. No sooner was Tauji out of
sight than they had entirely forgotten his-outraged parting comment. “Flowers ? Flowers in your hair ?
Rushing off in exam time- and lis tening to all this pleasure - music! Everyone will think you are completely

dissolute~you will never get married.”
121. Identify the tense of the given expression “...... had thus succeeded...

(1) Past Perfect Tense (2) Simple Present Tense
(3) Present Perfect Tense (4) Simple Past Tense

122. How did Taiji manage to get concessions for the girls ?
(1) By persuading Tauji (2) By fighting with Tauji
(3) By adopting an indirect approach (4) By arguing with Tauji

123. What cultural show was being held in the town ?

(1) A dance performance (2) A classical music recital
(3) A blockbuster movie (4) A popular play

124. By nature and beliefs, Tauji can be described as a/an...
(1) liberal (2) anarchist (3) agnostic (4) conservative

125. Identify the word nearest in meaning to ‘constrained’.
(1) caught (2) confined (3) laid (4) arrested

126. What was Tauji's duty as a family patriarch ?
(1) To keep a strict watch on the youngsters’ activities
(2) To get the youngsters married
(3) To cook for the youngsters
(4) To teach the youngsters

ST 39 I
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127. What does the underlined expression 'the boys are p

(1) not likely to have/ get (2) ixnpossible to h::e / get
(3) likely to have/get (4) sure to have/g

rone to' mean ?

128. State which of the following statements is True/False.
(A) Taiji was relatively liberal in her approach. | !
(B) Lata and Malati could not obtain tickets for the recital. o
(1) Both (A) and (B) are False. (2) (A is True but (B) is Fa'se. 2
(3) (B) is True but (A) is False. (4) Both (A) and (B) are True. ;s
ollow : (129-135) 5

-

Read the passage given below and answer the questions that f : .
I designed, af%::r my first voyage, to spend t]:le rest of my days at Baghdad, but it was not long ere -
I grew weary of an indolent life and I put to sea a second time with merch'ants of known PI_'Ob“Y- We
embarked on board of a good ship and set sail. One day we landed on an island covered with severa]
sorts of fruit trees, but we could sec neither man nor animal. While some diverted themselves with
gathering flowers, and other fruits, I took my wine and provisions and sat down near a stream betwixt
two high trees, which afforded a delightful shade. I made a good meal and afterwards fell asleep. When
I woke up, the ship was no longer in view. :
In this sad condition, I was ready to die with grief. When I gazed towards the sea, I could discem
nothing but sky and water, but looking over the land I beheld something white, and coming down, I
took what provision I had left and went towards the object which was so distant that at first could not I
distinguish what it was. 1
As I approached, I thought it to be a white dome of a prodigious height and extent. I drew near to 1
it, and walked round it and found no door to it. I found that I had not strength nor activity to climb iton
account of its exceeding smoothness. I went round the dome measuring its circumference. I meditated
upon some means of gaining an entrance into it but no means of accomplishing this occurred to me.
By this time the sun was about to set, and all of a sudden the sky became as dark as if it had been
covered with a thick cloud. I was much astonished at this sudden darkness but much more whenl
found it occasioned by a bird of a most extraordinary size that came flying towards me. I remembered
that I had often heard mariners speak of a miraculous bird called the roc, and conceived that the great.’.
dome which I so much admired must be her egg. Shortly afterwards the bird alighted and sat over the
egg. :
129. The narrator left Baghdad because....
(1) He was weary of the city
(2) He was keen to visit another city
(3) He did not want to live a lazy life
(4) Both (1) and (3)

130. What did the narrator do after reaching the island ?
(1) He gathered fruits and flowers.
(2) He chatted with his colleagues.
(3) He sat down for a filling meal.
(4) He took endless strolls around the island.,

131. Choose the word nearest in meaning to the underlined word : ¢ of a prodigious height a
extent. T A

(1) large (2) mnarrow (3)  marvelloys (4)

P-1 I 40
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Identify the Part of Speech of the underlined word in the expression : “.... to die with grief.
(1) Adjective (2) Conjunction  (3) Preposition (4) Adverb

After realising that the ship had left, the narrator.....
(1) was shocked

. (2) was relieved
(3) did not react (4) felt amused

Identif).x the tense of the underlined word in : ‘I drew near to it....
(1)  Simple Past (2) Simple Present (3) Future Perfect (4) Past Perfect

The “White dome’ finally turned out to be...
(1)  a royal palace (2)

a place of worship
(3) a luxurious mansion (4)

a massive egg

Which one of the following is NOT true about an assessment ?
(1) Tt presents concrete evidence of the student’s performance.

(2) Tt helps to evaluate the pace of a student’s progress.
(3) It can only be done by the teacher.

(4) It provides a holistic view of the student's progress.

Which genre of stories are the most relevant to propagate multilingualism and multiculturalism ?
(1) Autobiographies. (2) Science fiction.
(3) Lengthy tale. (4) Folktales.

Which of the following is NOT true regarding the Monitor Hypothesis given by Stephen
Krashen ?

(1) TItis based on the relationship between acquisition and learning.
(2) What is “acquired” helps in monitoring what is ‘learnt’.

(3)  The learner can only monitor if s/he has enough time and enough knowledge of the rules.
(4) Itis used in the context of second language acquisition.

Which of the following would not help in textual comprehension and vocabulary development ?
(1) Alphabet charts. (2) Theme-maps.

(3) Picture dictionaries. (4) Word-maps.

Which of the following is NOT a desirable feature in children’s literature ?

(1)  Explicit moral values. (2) Big font size and familiar words.

(3) Attractive pictures. (4) Animal characters.

Which of these statements is CORRECT regarding the two major types of assessment ?

(1) Summative assessment is about the sum total of every form of assessment through the year.
(2) Formative assessment goes on continuously through the learning phase.

(3) Summative assessment is done before and during the learning phase.

(4) Formative assessment focuses on the form rather than function of learning,.

A 41 -
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142. Which of the following is NOT a feature of communicative ap
(1)  Contextualised use of language. ’
(2)  Discovering rules of grammar instead of teaching exp
(3)  Developing communicative competence. "
(4)  More focus on form than function. 3
1 : |
143. A teacher teaching English as second language to Hmdi'SPe.akmg- t;mjf?;;;m‘&iiz tgl:tili;i?nm
and opportunities to engage in little conversations in E“gl.wh b tions éraduaﬂ pth s~
She presents examples before them which. they use in thelr. Conveés? ' ach do yé,u mome :
up with rules on their own with the help of the teacher. Which model/ appro y the
teacher is following ? ' o h
(1)  Audio-lingual method. (2] | Communicatve Spproct
(3) Direct method. (4) Grammar translation method.

proach ?

licitly.

144. When a beginner reader uses his/her general knowledge about the text theme, cultural aspects
ete. to make sense of the specific textual content, it is called :
(1) Top-up approach. (2) Bottom-up approach.
(3) Bottom-down approach. (4) Top-down approach.

145. Which of the following is NOT considered a major domain of learning ? -
(1) Socio-cultural (2) Affective (3) Psychomotor (4) Cognitive

146. Which of the following DOES NOT help in creating an inclusive classroom ?
(1) Giving team-tasks.
(2) Adopting a multilingual approach.
(3) Having some students as monitors in the class.
(4) Peer-group interaction and feedback system.

147. Which of the following is NOT an example of formative assessment ?
(1) A term-paper at the end of the session.
(2) A combination of a comprehensive written test and few other tasks scatte
of time.

(3) Assessment strategies ranging from short tests to peer-reviews throughout the session.
(4) A series of oral and written tasks, role-play etc. throughout the session.

red over a period

148. Error-analysis is important in order to look at the gaps in leaming because :
(1) Errors are a window into the minds of the learners and their g
(2)  Errors indicate a lack in the understanding of the learners,
(3) Errors show extent of concept development and motivation.
(4) Most errors are caused by callous attitude of the learners.

tage of learning.

149. Reading or writing “p” as ‘b" or ‘6" as 9" is a common error amon

: g children with :
(1) Aphasia. (2) Anomia. (3) Dyslexia.

(4)  Stuttering.

150. Basic Interpersonal Communicative Skills is known as :
(1) Language of abstraction.
(2) Language used for day-to-day communication.
(3) Interlanguage.
(4) Higher order language skills.

P-1 [N R 42 ?;'

Join Telegram - @HaryanaJobs.in (¥ Scanned with OKEN Scanner



Join Telegram - @HaryanaJobs.in

R -V
wT -1 RN
TEAqut : qﬁ&?wm—v(m121@150)%maammmﬁaaﬁﬁﬁw-lmﬁwﬁﬁ
T :

WW#W@WW%W%WWWWWWﬁW (121-128)

WA R % T o€ 3ot e 7 & o 90 o 3 s 1 o T, o 7 @
o STl 3 Tt & A s s - e, e i, s 35 it o o e e 0 T2
AR GRS 8 S S i g ——— p———— e e kR e
1Y, wﬁaﬂ‘mﬁfﬁmmw, Sireifires forhTel =1 W ey P e Tkl ¥, e 36 S
+ff TR TTEHT <61 ST 3, 1 6 i e

121, TEaIfFay

o (2) WPl (3) HRer (4) WA
(1) W srfers mee () ieEifier fomm
(3) OREH sfurgF \ ) Wt =1 Shen
123. AT 6 W18 HRA Y TG 7 |
(1) HeEEE A ()l S9i 1 SfuEH
(3) R Hew Wamﬂw
124. TR H fREh HIoH & 9 Hl T © 7
(1) v, are ik Tt @) e, T i T
(3) UHfd, AT SR A (4) G, A AR foRE
125. ‘Tger’ =1 foem 7= T
A A STEdE (2) EGE (3) ITEelT 4) erEgfea
126. FreAT freffa @ w93 79@ @ 1
’\_/(’rf/l}l?fﬁi #AR 7T F HqeH HI T T

(2) WHTH T STHET HIA I 3G H AR S T
(3) wHfaes |ied i o e
(4) TF HEH A @

127. ‘fofera’ & g1 v 791 WA € : \
(1) foem e \_(2)—fen + zd (3) foem +<q (4) fofar+

128. @aﬂmﬁﬁf&m%fﬂ___aﬁawmﬂm%l
Mﬂﬁ‘ Aisd (2) omfE digd  (3) U Higw (4) R T
P-1 (0RO 43 1

Join Telegram - @HaryanaJobs.in (¥ Scanned with OKEN Scanner



Join Telegram - @HaryanaJobs.in .
TR g g T W v oy ey SR feed S FOC (129155

| TS T 7 oy ey & 1 v ) o il R 8 S T © G T 5
T T 1 s g w S ) s G 2 W O €| € o
SN O SRR, e o S5 R, e S € sl 3 Foe o foR e R T I | T W 7 f
Foreht e o e ot 3 for o g | < 9 S A T S ¥ A T B
S | TR AT - ST e et ¥ ik @ e @ 7, W9, WA, Wepf A TR oA fgy
& Tl Fe-Tiva ) T 3 % T e i T |

129. TV % STTER Wit safer -
1) —TEEqU ¥ | () A A o St gl

(3) e @ g ¥ @) g
130. Tt =l = T e @ v § e
(1) TR & Ay (2) HFRIE Tl
(3) M &l AN \_(@) 99 gfe =l 1 mE
131. et oft = % gwemar 3 RINEERGIRS
(1) =t F o7 @)yt %t 91 gfie &
(3) wIfHFITE &% o = @) =it & ufsH
132. ‘9&pfa’ v A O A
(1) = o2l 3 @3) Ly ==
133. TENY % SMYR R FHel 1 Thal & for gq asft 9o ¥ it -
(1) TR SE-aed 99 ) (2) 9 ¥R W HIE §)
(3) T FHE F FHHER § \_(4)— =0 Sre-9ef oo € |
134. AR IR - '
(1) ey (2) Hepf \_@—sam @) =
135. Ty § Fell AT B GHH 99 E <@ T W e fagn mn ¥
(1) ToE FH 2(2) TMRR w3
\_(3— fordr 9 4) WHME I T

136, frefefed § @ FH-41 e & i H §el T8 § 2
(1) e famnfdal @1 Iueifsd & s & S e &G HTar €
(2) e foenfedi &1 woifd <1 A 61 e FE H WY e €
\__(3) & e eI g & fehan S Hehel ¥ | 4
(4) T fereneff 1 wifer 3 =R # T gfewhon FE e ¥ "

P-1 [T 44

Join Telegram - @HaryanaJobs.in (¥ Scanned with OKEN Scanner



Join Telegram - @HaryanaJobs.in
137. Wﬁg%ﬁ‘ﬁmwm%mﬁmmammwﬁm%?
A1) SR
(2) fasm s

v (3) T A (i ¥ (&) e

138. ﬁﬂﬁﬂ—mﬁmmmﬁwﬁawﬁmﬂ%#ﬁﬁnﬁﬁ%?
(1) 7€ ST iR stfrm & ey geisy w sneiifi &
@) ‘waﬁaﬁmm%’,‘m@'mﬁxﬁzﬁnmﬁﬁmm%
(3) Toemelf vt e o wars ¥ s 5 Freri @ Wit SRR @) Si AR T
(4) %mwaﬁﬂ#mﬁﬁmﬁm%

139. FEISIET & & -1 Wi Wt ) s i s % foemm 3 7eE TE w2
() TSR ) dmunfe(3) fvmdw L) W A

140. H Q HE-1 w1t Wi 1 e o @ §?
(1) Afe T 5w yegE
(2) S hie AR IR ufifad e
(3) oy fam
(4) UA

141. F=fafEd § § -9 FY7 swed & d 983 T & Sed J el 82

(1) AN ST I8 W I all 3Thel & Toish W89 H TAud o o | B
2 T e ST fsean # dad &9 8 =er ¢ |

(3) Brmenes SThe SIfTH Wi § et SR 6 SR feRA S € |

(4) TS ST AT H WAl b I G el W e e < g |

142. Frefafas ¥ & $H-91 TEYUTHS SUFTH 1 TO0HH & ¢ ?

(1) TS 1 W JAm

(2) Tl % WY e o TF W A o PR h @S w
(3) TEWUTHE Sl T faem T

Wwﬁﬁ arden Faei W eifyes &M <l

»

143. TF HeAE fEd at faenfer i fgdita o % w9 9 SIS A e Fa wHE I e w9 ¥ fraw
e AR e § wfe e ok He S St A § 9 T ooy § W S Ih THe
e Tl & | - ot foreedl sveArash B eg & . & Frem die A ¥ ) s frw wtessam

SIer T €7
(1) gea-wifue fafd (2) T SYRTH
(3) e (SmEER) T \_ M)~ S AR fafy
ST 45 -

Join Telegram - @HaryanaJobs.in (¥ Scanned with OKEN Scanner



/144; "gele r:ar;;%l%a%ygg :g;%s%m%aﬁ mﬁwaﬁaﬂmmg

& 39 T W w A 7o Frebrer T, o € I e 2

(1)  Sw-seammit SumT (2).-7e - AT FTH

(3) T - IR SurTH (4) '-_Eﬁﬁﬂanj’nﬂtﬁ EElL
145. Trafafad § & SH-w s =1 qer 4 (i) T #2

(1) wmiS giepfas (2) . wETHE
\/@_Wma; (4) :gsrﬁﬁﬂréﬁ'

146. Trefafen ¥ ) forads g wwre Fan givm w01 § aeg 7@ e ?
(1) w9 ¥+ 5@ ¥ fou &
(2) MY SUNW T S HEAT

\ (3w & g Rrenfefeli =1 e wyw (i) 6 3
(4) WEURE UHE T: fba it g gy sewen

147. Frefafad & ¥ ®H-91 AT sTee S @ € 2

(1) ¥ % 379 | 2 arelt ws wha

(2) T fafad wen o o = fafem safedi 8 e 0 F5 3R Sl @ fago

(3) T W H oY el when ¥ SropT TeurEt wHien S S dTefl STher i el
\—4)— R T & A Hifas iR fafea wEf @) e iR 39 < anfg

148. AT ¥ ®© TR FHiHEl F1 5@ F Hed § e faveron wewyel ¥ i
(1) Tt faaned % wfwss 3R Iferms F orawen H gHee § We © |
2y Tfaal e 5t gue § @ 7 i S i wHhd wa B
(3) TEfeal sraeron faswrd S JTon w1 vefkid we €|
(4) afeeper Ffear famnfeli & sAfra gfesi & wro & §)

149. ‘q’aﬁ'm'aﬁmﬁf@mm‘ﬁ'aﬁ‘Q’ﬁmmmm%aﬁm%WWﬁmﬁ%z

() v dwea (fewifermn) (4) - T A S=E gR
150. AT 31: TR FHTUIHE Prc 51 8 9 5 S e 2
(1)  smdar 1 \—t2y— fer-wfifeet 3 i ¥ s s
(3) SR (FeTefie) (4) % W 9w sl
~00o0-
R T 46

. A

Join Telegram - @HaryanaJobs.in (% Scanned with OKEN Scanner





